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Mohamed is wrong. The denominator shows how many equal parts you divide the whole into.

This means that hundredths will be smaller than tenths as they have been divided into more parts.
75 Is greater than j5.

This is sometimes true. Accept any correct examples that children give. Here is one possible answer:

Here is an example when it is true:

Here is an example when it is not true:
30 . 4 4 _ 40
700 is smaller than 7 because 7 = 75

95 . 6 6 _ 60
700 Is larger than 35 because 15 = 155

Accept other correct ways of recording the correction in tenths and hundredths.

Equivalents >> v oor x >> Correction
30 _ 3 v
100 ~ 10
% = 15—0 and % v
?—9=%and% x ,‘:,—q=,i,,ana',oi,
06~ t00nd 15 | X 1ot = 16 and 7
% and 1pg = 1—4 v
(1’—5=6andlgo x %=6ana’,%
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Answers

1) Multiple answers possible. Here is one possible answer: @
79 < 20 - 2 > 48 < S 4
100 100 10 100 10

2) Multiple answers possible. Here is one example:

40 = 2 d 2
100 10 a4nd 70
42 4 7
1 > j0s and 3
60 2 33
100 < 70 and o5
82 2 3
10 > 10 and 1
S0 = 30 40
j00 and 7 j00 and 155
3% 2 2
00 < 1 and 75

3) Accept arrows drawn closely to the answers shown.
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